BID TABULATION SHEET

Title: Colonial Park Spray Park, Franklin Township, Somerset County

Opening Date: Tuesday, December 5, 2017 at 3:00 pm

Contract #: 17008

Total Bids Received: 9	Signed Proposal	Stock Disclose	Non- Collusion	Affirm Action	NJ BRC	IRAN	PW Cont Regist	Proposal Bond	Surety	Project Labor	Addenda	Notes
Abraham General Construction LLC 39 Condit Terrace West Orange, NJ 07052	х	Х	х	57562	Х	Х	Х	Х	Х	Х	Х	\$819,036.00
Applied Landscape Technologies 145 River Road Montville, NJ 07045												\$1,160,926.00
Black Rock Enterprises LLC 1316 Englishtown Road Old Bridge, NJ 08857												\$1,135,236.00
Flanagan's Contracting Group, Inc. 90 Old Champlain Road Hillsborough, NJ 08844												\$1,146,195.50
LandTek Construction LLC DBA United Terrain Group 875 River Road Piscataway, NJ 08854												\$1,026,441.75
RJR Engineering Co., Inc. 105 Guinea Hollow Road Califon, NJ 07830												\$1,338,669.00
Tsivicos Enterprise 1420 Ninth Avenue, Suite 23 Neptune, NJ 07753												\$1,112,723.00

BID TABULATION SHEET

Title: Colonial Park Spray Park, Franklin Township, Somerset County

Opening Date: Tuesday, December 5, 2017 at 3:00 pm

Contract #: 17008

Total Bids Received: 9	Signed Proposal	Stock Disclose	Non- Collusion	Affirm Action	NJ BRC	IRAN	PW Cont Regist	Proposal Bond	Surety	Project Labor	Addenda	Notes
V & K Construction, Inc. 37 Bartha Avenue Edison, NJ 08817												\$983,160.00
Your Way Construction, Inc. 404 Coit Street Irvington, NJ 07111-4907												\$1,173,394.14

SOMERSET COUNTY ENGINEERING - BID TABULA	ATION				BIDDER'S NAM	E	BIDDER'S NAM	1E	BIDDER'S NAM	1E	BIDDER'S NAMI		BIDDER'S NAM	ME	BIDDER'S NAME	
Colonial Park Spray Park	Colonial Park Spray Park						V&K Construction, Inc.		LandTek Construction, LLC		Tsivicos Enterprise		Black Rock Enterprises, LLC		Flanagan's Contracting Group Inc	
Franklin Township, Somerset County, New Jersey	,			39 Condit Terrac	ce	37 Bartha Avenue		875 River Road		1420 Ninth Avenue, Suite 23		1316 Englishtown Road		90 Old Champlain Road		
Contract 17008				West Orange, N	J 07052	Edison, NJ 08817		Piscataway, NJ 08854		Neptune, NJ 07753		Old Bridge, NJ 08857		Hillsborough, NJ 08844		
BIDS RECEIVED ON December 5, 2017 @ 3:00 PM	ENGINEERS ESTIMATE			(BID #1)		(BID #2)		(BID #3)		(BID #4)		(BID #5)		(BID #6)		
DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
Contractors General Conditions-building permits fees,	LS															
1 site maintenance, site security, mobilization	LS	1	\$54,765.00	\$54,765.00		\$10,000.00		\$27,407.00		\$171,585.91		\$30,000.00		\$30,000.00		\$50,000.00
2 Soil Erosion and Sediment Control Measures	LS	1	\$6,315.00	\$6,315.00	$\overline{}$	\$3,500.00	$\overline{}$	\$9,000.00	\nearrow	\$10,830.00	$\overline{}$	\$15,000.00	\nearrow	\$30,000.00	$\overline{}$	\$35,156.00
3 Clearing Site	LS	1	\$10,000.00	\$10,000.00	\sim	\$30,000.00	$>\!<$	\$13,000.00	\sim	\$10,825.00	\sim	\$21,000.00	$\overline{}$	\$70,000.00	$\overline{}$	\$25,000.00
4 Excavation, Unclassified	CY	800	\$17.00	\$13,600.00	\$10.00	\$8,000.00	\$20.00	\$16,000.00	\$40.00	\$32,000.00	\$28.75	\$23,000.00	\$35.00	\$28,000.00	\$45.00	\$36,000.00
5 Spray Park Equipment System	LS	1	\$329,930.00	\$329,930.00	\mathbb{N}	\$335,000.00	\bigvee	\$370,000.00	\mathbb{N}	\$346,344.00	\bigvee	\$414,938.00	\mathbb{N}	\$350,000.00	\bigvee	\$450,000.00
6 Concrete Pavement	SY	597	\$88.00	\$52,536.00	\$58.00	\$34,626.00		\$40,596.00	\$65.00	\$38,805.00	\$123.00	\$73,431.00	\$78.00	\$46,566.00	\$87.00	\$51,939.00
7 Concrete Curb	LF	90	\$30.00	\$2,700.00	\$35.00	\$3,150.00	\$24.00	\$2,160.00	\$30.00	\$2,700.00	\$65.00	\$5,850.00	\$33.00	\$2,970.00	\$50.00	\$4,500.00
8 Concrete Steps	LS	1	\$5,220.00	\$5,220.00	$\sqrt{}$	\$5,000.00		\$12,000.00	\bigvee	\$3,690.00		\$25,000.00	\bigvee	\$5,500.00	\langle	\$15,000.00
9 Asphalt Pathway Pavement	SY	500	\$22.00	\$11,000.00	\$27.00	\$13,500.00	\$34.00	\$17,000.00	\$41.50	\$20,750.00	\$25.00	\$12,500.00	\$25.00	\$12,500.00	\$21.00	\$10,500.00
10 Asphalt Parking Lot Pavement	SY	2638	\$40.00	\$105,520.00	\$26.00	\$68,588.00		\$139,814.00	\$46.68	\$123,141.84	\$58.00	\$153,004.00	\$42.00	\$110,796.00	\$38.00	\$100,244.00
11 Park Bench	EA	6	\$1,000.00	\$6,000.00	\$1,600.00	\$9,600.00	\$2,100.00	\$12,600.00	\$1,100.00	\$6,600.00	\$1,700.00	\$10,200.00	\$2,800.00	\$16,800.00	\$1,268.00	\$7,608.00
12 10' x 30' Cantilevered Shade Structure	LS	1	\$18,300.00	\$18,300.00	\langle	\$30,000.00	\bigvee	\$24,000.00	\bigvee	\$27,500.00	\langle	\$40,000.00	\bigvee	\$25,000.00	$\sqrt{}$	\$55,312.00
13 18' Gazebo Style Shelter	LS	1	\$15,800.00	\$15,800.00	\langle	\$20,000.00	\sim	\$29,000.00	\mathbb{N}	\$30,000.00	\langle	\$35,000.00	\mathbb{N}	\$55,000.00	\langle	\$34,153.00
14 Split Rail Fence	LF	296	\$30.00	\$8,880.00	\$20.00	\$5,920.00	\$31.00	\$9,176.00	\$25.00	\$7,400.00	\$30.00	\$8,880.00	\$39.00	\$11,544.00	\$19.00	\$5,624.00
15 Timber Guide Rail	LF	118	\$48.00	\$5,664.00	\$55.00	\$6,490.00		\$9,440.00	\$90.00	\$10,620.00	\$75.00	\$8,850.00	\$100.00	\$11,800.00	\$58.75	\$6,932.50
16 Detectable Warning Surface	SY	4	\$225.00	\$900.00	\$1,500.00	\$6,000.00	\$750.00	\$3,000.00	\$250.00	\$1,000.00	\$400.00	\$1,600.00	\$250.00	\$1,000.00	\$400.00	\$1,600.00
17 Outlet Control Structure	EA	1	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
18 Flared End Section	EA	2	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$7,500.00	\$15,000.00	\$400.00	\$800.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00
19 Manhole	EA	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$4,980.00	\$4,980.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00
20 Catch Basin	EA	2	\$3,500.00	\$7,000.00	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00	\$3,000.00	\$6,000.00	\$2,350.00	\$4,700.00	\$3,500.00	\$7,000.00	\$2,100.00	\$4,200.00
21 12" Inline Drain	EA	7	\$750.00	\$5,250.00	\$500.00	\$3,500.00		\$7,700.00	\$450.00	\$3,150.00	\$650.00	\$4,550.00	\$2,000.00	\$14,000.00	\$1,800.00	\$12,600.00
22 6" HDPE Perforated Pipe	LF	167	\$30.00	\$5,010.00	\$25.00	\$4,175.00	\$28.00	\$4,676.00	\$20.00	\$3,340.00	\$30.00	\$5,010.00	\$45.00	\$7,515.00	\$20.00	\$3,340.00
23 8" HDPE Storm Sewer Pipe	LF	260	\$45.00	\$11,700.00	\$28.00	\$7,280.00	\$38.00	\$9,880.00	\$25.00	\$6,500.00	\$42.00	\$10,920.00	\$45.00	\$11,700.00	\$26.00	\$6,760.00
24 10" HDPE Storm Sewer Pipe	LF	19	\$60.00	\$1,140.00	\$75.00	\$1,425.00		\$988.00	\$30.00	\$570.00	\$45.00	\$855.00	\$50.00	\$950.00	\$28.00	\$532.00
25 15" HDPE Storm Sewer Pipe	LF	166	\$70.00	\$11,620.00	\$47.00	\$7,802.00		\$9,628.00	\$40.00	\$6,640.00	\$60.00	\$9,960.00	\$60.00	\$9,960.00	\$30.00	\$4,980.00
26 15" Ductile Iron Storm Sewer Pipe	LF	63	\$150.00	\$9,450.00	\$85.00	\$5,355.00	\$280.00	\$17,640.00	\$100.00	\$6,300.00	\$230.00	\$14,490.00	\$100.00	\$6,300.00	\$100.00	\$6,300.00
27 Water Line - Irrigation Line Relocation	LF	515	\$12.00	\$6,180.00	\$35.00	\$18,025.00		\$12,875.00	\$14.00	\$7,210.00	\$27.00	\$13,905.00	\$29.00	\$14,935.00	\$30.00	\$15,450.00
28 Water Service Connection – Spray Park	LS	1	\$8,000.00	\$8,000.00	\sim	\$8,000.00		\$14,000.00	\sim	\$2,500.00	\sim	\$15,000.00	\sim	\$5,500.00	\langle	\$30,000.00
29 Water Service Line - Spray Park	LF	440	\$20.00	\$8,800.00	\$40.00	\$17,600.00	\$40.00	\$17,600.00	\$6.00	\$2,640.00	\$32.00	\$14,080.00	\$35.00	\$15,400.00	\$30.00	\$13,200.00
30 Electrical Service - Spray Park	LS	1	\$15,000.00	\$15,000.00	\sim	\$105,000.00	$>\!\!<$	\$89,000.00	\sim	\$70,000.00	\sim	\$90,000.00	\sim	\$150,000.00	\langle	\$71,265.00
31 Landscaping/Site Restoration	LS	1	\$30,135.00	\$30,135.00	\sim	\$20,000.00	$>\!\!<$	\$32,000.00	> <	\$54,000.00	\sim	\$30,000.00	\sim	\$65,000.00	\langle	\$65,000.00
32 Asphalt Price Adjustment	DOLLAR	2000	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
shaded area indicates a mathematical error that was corrected			EST. TOTAL=	\$786,915.00	BID TOTAL=	\$819,036.00	BID TOTAL=	\$983,160.00	BID TOTAL=	\$1,026,441.75	BID TOTAL=	\$1,112,723.00	BID TOTAL=	\$1,135,236.00	BID TOTAL=	\$1,146,195.50

SOMERSET COUNTY ENGINEERING - BID TABULA	TION				BIDDER'S NAM	1E	BIDDER'S NAM	1E	BIDDER'S NAM	IE .	BIDDER'S NAM	E	BIDDER'S NAM	E	BIDDER'S NAME	
Colonial Park Spray Park	Colonial Park Spray Park						Your Way Cons	struction Inc.	RJR Engineerin	g Co., Inc.	NONE		NONE		NONE	
Franklin Township, Somerset County, New Jersey					145 River Road	l	404 Coit Street		105 Guinea Hol	low Road						-
Contract 17008					Montville, NJ 07	7045	Irvington, NJ 07	111-4907	Califon, NJ 0783	30						
BIDS RECEIVED ON November 28, 2017 @ 2:00 PM			ENGINEERS	ESTIMATE	(BID #7)		(BID #8)		(BID #9)		(BID #10)		(BID #11)		(BID #12)	
DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
Contractors General Conditions-building permits fees,	LS	1														
1 site maintenance, site security, mobilization	LS	1	\$54,765.00	\$54,765.00		\$90,000.00		\$98,680.00		\$75,000.00		\$0.00		\$0.00		\$0.00
2 Soil Erosion and Sediment Control Measures	LS	1	\$6,315.00	\$6,315.00	\mathbb{N}	\$23,000.00	\mathbb{N}	\$7,910.00	\bigvee	\$9,000.00	\bigvee	\$0.00	\bigvee	\$0.00	\bigvee	\$0.00
3 Clearing Site	LS	1	\$10,000.00	\$10,000.00	\mathbb{N}	\$72,763.00	\mathbb{N}	\$166,590.00	\bigvee	\$30,000.00	\langle	\$0.00	\bigvee	\$0.00		\$0.00
4 Excavation, Unclassified	CY	800	\$17.00	\$13,600.00	\$115.00	\$92,000.00	\$22.95	\$18,360.00	\$203.00	\$162,400.00		\$0.00		\$0.00)	\$0.00
5 Spray Park Equipment System	LS	1	\$329,930.00	\$329,930.00	\mathbb{N}	\$270,000.00		\$319,513.00	\langle	\$390,000.00	\langle	\$0.00	\bigvee	\$0.00	\bigvee	\$0.00
6 Concrete Pavement	SY	597	\$88.00	\$52,536.00	\$54.00	\$32,238.00	\$68.45	\$40,864.65	\$110.00	\$65,670.00		\$0.00		\$0.00		\$0.00
7 Concrete Curb	LF	90	\$30.00	\$2,700.00	\$33.00	\$2,970.00		\$2,826.00	\$50.00	\$4,500.00		\$0.00		\$0.00		\$0.00
8 Concrete Steps	LS	1	\$5,220.00	\$5,220.00	\langle	\$35,000.00		\$5,970.00	\langle	\$8,500.00	\langle	\$0.00	\searrow	\$0.00	\searrow	\$0.00
9 Asphalt Pathway Pavement	SY	500	\$22.00	\$11,000.00	\$28.00	\$14,000.00	\$60.60	\$30,300.00	\$60.00	\$30,000.00		\$0.00		\$0.00)	\$0.00
10 Asphalt Parking Lot Pavement	SY	2638	\$40.00	\$105,520.00	\$40.00	\$105,520.00	\$42.30	\$111,587.40	\$51.00	\$134,538.00		\$0.00		\$0.00		\$0.00
11 Park Bench	EA	6	\$1,000.00	\$6,000.00	\$1,420.00	\$8,520.00	\$1,316.00	\$7,896.00	\$1,800.00	\$10,800.00		\$0.00		\$0.00		\$0.00
12 10' x 30' Cantilevered Shade Structure	LS	1	\$18,300.00	\$18,300.00	\mathbb{N}	\$48,000.00	\mathbb{N}	\$38,267.00	\bigvee	\$32,000.00	\langle	\$0.00	\bigvee	\$0.00	\bigvee	\$0.00
13 18' Gazebo Style Shelter	LS	1	\$15,800.00	\$15,800.00	\bigvee	\$73,000.00	\bigvee	\$31,715.00	\bigvee	\$35,000.00	\langle	\$0.00	\bigvee	\$0.00	\bigvee	\$0.00
14 Split Rail Fence	LF	296	\$30.00	\$8,880.00	\$19.00	\$5,624.00	\$19.44	\$5,754.24	\$50.00	\$14,800.00		\$0.00		\$0.00)	\$0.00
15 Timber Guide Rail	LF	118	\$48.00	\$5,664.00	\$47.00	\$5,546.00	\$64.75	\$7,640.50	\$77.00	\$9,086.00		\$0.00		\$0.00		\$0.00
16 Detectable Warning Surface	SY	4	\$225.00	\$900.00	\$360.00	\$1,440.00	\$484.00	\$1,936.00	\$385.00	\$1,540.00		\$0.00		\$0.00		\$0.00
17 Outlet Control Structure	EA	1	\$7,500.00	\$7,500.00	\$8,775.00	\$8,775.00	\$6,630.00	\$6,630.00	\$16,000.00	\$16,000.00		\$0.00		\$0.00)	\$0.00
18 Flared End Section	EA	2	\$3,000.00	\$6,000.00	\$550.00	\$1,100.00	\$591.50	\$1,183.00	\$2,800.00	\$5,600.00		\$0.00		\$0.00)	\$0.00
19 Manhole	EA	1	\$5,000.00	\$5,000.00	\$3,350.00	\$3,350.00	\$3,140.00	\$3,140.00	\$4,200.00	\$4,200.00		\$0.00		\$0.00)	\$0.00
20 Catch Basin	EA	2	\$3,500.00	\$7,000.00	\$4,100.00	\$8,200.00	\$3,150.00	\$6,300.00	\$4,400.00	\$8,800.00		\$0.00		\$0.00		\$0.00
21 12" Inline Drain	EA	7	\$750.00	\$5,250.00	\$2,350.00	\$16,450.00	\$1,450.00	\$10,150.00	\$1,800.00	\$12,600.00		\$0.00		\$0.00)	\$0.00
22 6" HDPE Perforated Pipe	LF	167	\$30.00	\$5,010.00	\$110.00	\$18,370.00	\$134.80	\$22,511.60	\$39.00	\$6,513.00		\$0.00		\$0.00)	\$0.00
23 8" HDPE Storm Sewer Pipe	LF	260	\$45.00	\$11,700.00	\$120.00	\$31,200.00	\$50.90	\$13,234.00	\$57.00	\$14,820.00		\$0.00		\$0.00		\$0.00
24 10" HDPE Storm Sewer Pipe	LF	19	\$60.00	\$1,140.00	\$120.00	\$2,280.00		\$1,409.80	\$127.00	\$2,413.00		\$0.00		\$0.00)	\$0.00
25 15" HDPE Storm Sewer Pipe	LF	166	\$70.00	\$11,620.00	\$135.00	\$22,410.00		\$11,752.80	\$81.00	\$13,446.00		\$0.00		\$0.00		\$0.00
26 15" Ductile Iron Storm Sewer Pipe	LF	63	\$150.00	\$9,450.00	\$165.00	\$10,395.00	\$150.30	\$9,468.90	\$160.00	\$10,080.00		\$0.00		\$0.00)	\$0.00
27 Water Line - Irrigation Line Relocation	LF	515	\$12.00	\$6,180.00	\$25.00	\$12,875.00	\$18.75	\$9,656.25	\$45.00	\$23,175.00		\$0.00		\$0.00		\$0.00
28 Water Service Connection – Spray Park	LS	1	\$8,000.00	\$8,000.00	\bigvee	\$1,500.00	\bigvee	\$6,580.00	\bigvee	\$4,000.00	\sim	\$0.00	\sim	\$0.00	\sim	\$0.00
29 Water Service Line - Spray Park	LF	440	\$20.00	\$8,800.00	\$85.00	\$37,400.00	\$48.70	\$21,428.00	\$45.00	\$19,800.00		\$0.00		\$0.00)	\$0.00
30 Electrical Service - Spray Park	LS	1	\$15,000.00	\$15,000.00	\mathbb{N}	\$60,000.00	\sim	\$107,890.00	\mathbb{N}	\$82,388.00	$>\!\!<$	\$0.00	\sim	\$0.00		\$0.00
31 Landscaping/Site Restoration	LS	1	\$30,135.00	\$30,135.00	\searrow	\$45,000.00	\sim	\$44,250.00	\sim	\$100,000.00	$>\!\!<$	\$0.00	\sim	\$0.00		\$0.00
32 Asphalt Price Adjustment	DOLLAR	2000	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		\$0.00		\$0.00		\$0.00
shaded area indicates a mathematical error that was corrected			BID TOTAL=	\$786,915.00	BID TOTAL=	\$1,160,926.00	BID TOTAL=	\$1,173,394.14	BID TOTAL=	\$1,338,669.00	BID TOTAL=	\$0.00	BID TOTAL=	\$0.00	BID TOTAL=	\$0.00